Schedule: A

Project No.: NPS-DRTO 1(1)

Project Name: DRY TORTUGAS NATIONAL PARK -- SCHEDULE A

State: FL Opened at: Sterling, VA
County: MONROE By: J.Wilson
DRY TORTUGAS NATIONAL PARK Date: 06/21/01

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: J.Wilson

Title: Highway Engineer Date: 06/22/01

Contract Awarded to: Inland Equipment Services Date:

Contractor	Bid Amount	Responsive
Marine Co DBA Harrison Dock Builder	293,047.00	
P.O. Box 8		
Harrison, ID 83833-0008		
Robbie's Safe Harbor Marine	434,287.68	
End of Shrimp Road		
Stock Island		
Key West, FL 33040		
Inland Equipment Services	476,668.99	
1656 E. 5th Street		
Panama City, FL 32401		
Sieg and Ambachtsheer, Inc	693,700.00	
P.O. Box 740609		
Orange City, FL 32774		
Coastal Marine Construction, Inc.	816,825.00	
625 N. Tamiami Trail	,	
Venice, FL 34292		
R&G Construction Company	1,092,887.65	
1700 N. Graham Street	, ,	
Charlotte, NC 28206		
Engineer's Estimate	481,100.00	

Date: 06/25/01

Schedule: A

Project No.: NPS-DRTO 1(1)

Project Name: DRY TORTUGAS NATIONAL PARK -- SCHEDULE A

BID ITEM CHECK PASS

Bidder	Item No.	Bidder's	Computed
	nem 10.	Extension	Extension
R&G Construction Company	15729	14,373.00	14,372.00
R&G Construction Company	55101B	217,918.80	217,917.00
R&G Construction Company	55201A	86,660.87	85,660.85
R&G Construction Company	55401	24,168.65	24,167.00
R&G Construction Company	55702	306,138.91	306.00
R&G Construction Company	55707	18,313.42	18.31
R&G Construction Company	57002	243,501.29	243,500.32
R&G Construction Company	57003	81,695.41	81,695.13
Robbie's Safe Harbor Marine	55101B	41,650.25	41,658.75
Robbie's Safe Harbor Marine	55401	9,300.00	8,915.50
Robbie's Safe Harbor Marine	55702	31,412.21	31,412.43
Sieg and Ambachtsheer, Inc	63701	1,000.00	10,000.00

Date: 06/25/01

Schedule: A

Project No.: NPS-DRTO 1(1)

Project Name: DRY TORTUGAS NATIONAL PARK -- SCHEDULE A

BID TOTAL CHECK PASS

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
Marine Co DBA Harrison Dock Builder	293,047.00	293,047.00	
Robbie's Safe Harbor Marine	434,663.46	434,287.68	***
Inland Equipment Services	476,668.99	476,668.99	
Sieg and Ambachtsheer, Inc	693,700.00	693,700.00	
Coastal Marine Construction, Inc.	816,825.00	816,825.00	
R&G Construction Company	1,417,021.27	1,092,887.65	***

The apparent low bidder is 39 % below the engineer's estimate.

Date: 06/25/01

Schedule: A

Project No.: NPS-DRTO 1(1)

Project Name: DRY TORTUGAS NATIONAL PARK -- SCHEDULE A

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101	LPSM	MOBILIZATION			
	Marine Co DBA Harrison I	Oock Builder	ALL	42,000.00	42,000.00
	Robbie's Safe Harbor Marin			137,500.00	137,500.00
	Inland Equipment Services			50,000.00	50,000.00
	Sieg and Ambachtsheer, Inc	;		160,000.00	160,000.00
	Coastal Marine Constructio			160,000.00	160,000.00
	R&G Construction Compan	y		139,572.11	139,572.11
	ENGINEER'S ESTIMATE			82,000.00	82,000.00
15729	LNFT	TURBIDITY BARRIER	S		
	Marine Co DBA Harrison I	Oock Builder	200	17.50	3,500.00
	Robbie's Safe Harbor Marin	ie		35.59	7,118.00
	Inland Equipment Services			19.54	3,908.00
	Sieg and Ambachtsheer, Inc	;		30.00	6,000.00
	Coastal Marine Constructio	n, Inc.		30.00	6,000.00
	R&G Construction Compan	y		71.86	14,372.00
	ENGINEER'S ESTIMATE	-		46.00	9,200.00
20304A	LL LPSM	REMOVAL OF MISCE	LLANEOUS ITEMS (I	DESIGNATED MATER	CIALS)
	Marine Co DBA Harrison I	Oock Builder	ALL	15,000.00	15,000.00
	Robbie's Safe Harbor Marin	ie		105,600.00	105,600.00
	Inland Equipment Services			83,189.96	83,189.96
	Sieg and Ambachtsheer, Inc	;		61,200.00	61,200.00
	Coastal Marine Constructio	n, Inc.		60,000.00	60,000.00
	R&G Construction Compan	y		264,378.93	264,378.93
	ENGINEER'S ESTIMATE			60,000.00	60,000.00
55101B	LNFT	TREATED TIMBER PI	LES, IN PLACE		
	Marine Co DBA Harrison I	Oock Builder	1,575	23.50	37,012.50
	Robbie's Safe Harbor Marin	ne		26.45	41,658.75
	Inland Equipment Services			28.00	44,100.00
	Sieg and Ambachtsheer, Inc	;		70.00	110,250.00
	Coastal Marine Constructio	n, Inc.		25.00	39,375.00
	R&G Construction Compan	y		138.36	217,917.00
	ENGINEER'S ESTIMATE			30.00	47,250.00
55201A	CUYD	STRUCTURAL CONCE	RETE, CLASS A (AE)		
	Marine Co DBA Harrison I	Oock Builder	5	3,000.00	15,000.00
	Robbie's Safe Harbor Marin	ie		400.00	2,000.00
	Inland Equipment Services			5,509.36	27,546.80
	Sieg and Ambachtsheer, Inc	·		3,000.00	15,000.00
	Coastal Marine Constructio			2,500.00	12,500.00

Date: 06/25/01

Schedule: A

Project No.: NPS-DRTO 1(1)

Project Name: DRY TORTUGAS NATIONAL PARK -- SCHEDULE A

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
	R&G Construction Company			17,132.17	85,660.85
	ENGINEER'S ESTIMATE			3,500.00	17,500.00
55401	LB F	EINFORCING STEEL			
	Marine Co DBA Harrison Doo	k Builder	550	29.00	15,950.00
	Robbie's Safe Harbor Marine			16.21	8,915.50
	Inland Equipment Services			14.25	7,837.50
	Sieg and Ambachtsheer, Inc			3.00	1,650.00
	Coastal Marine Construction,	Inc.		4.00	2,200.00
	R&G Construction Company			43.94	24,167.00
	ENGINEER'S ESTIMATE			5.00	2,750.00
55702	MFBM	REATED STRUCTUI	RAL TIMBER AND LU	JMBER	
	Marine Co DBA Harrison Doo	k Builder	38.25	2,250.00	86,062.50
	Robbie's Safe Harbor Marine			821.24	31,412.43
	Inland Equipment Services			2,518.10	96,317.33
	Sieg and Ambachtsheer, Inc			4,000.00	153,000.00
	Coastal Marine Construction,	Inc.		7,000.00	267,750.00
	R&G Construction Company			8.00	306.00
	ENGINEER'S ESTIMATE			5,000.00	191,250.00
55707	MFBM	VOOD POLYMER CO	MPOSITE TIMBER		
	Marine Co DBA Harrison Doo	k Builder	0.5	4,000.00	2,000.00
	Robbie's Safe Harbor Marine			29,196.00	14,598.00
	Inland Equipment Services			6,062.07	3,031.04
	Sieg and Ambachtsheer, Inc			20,000.00	10,000.00
	Coastal Marine Construction,	Inc.		7,000.00	3,500.00
	R&G Construction Company			36.62	18.31
	ENGINEER'S ESTIMATE			7,500.00	3,750.00
57002	LNFT F	ILE ENCAPSULATIO	ON WITH CATHODIC	PROTECTION	
	Marine Co DBA Harrison Doo	k Builder	112	456.00	51,072.00
	Robbie's Safe Harbor Marine			450.00	50,400.00
	Inland Equipment Services			783.12	87,709.44
	Sieg and Ambachtsheer, Inc			1,000.00	112,000.00
	Coastal Marine Construction,	Inc.		1,500.00	168,000.00
	R&G Construction Company			2,174.11	243,500.32
	ENGINEER'S ESTIMATE			350.00	39,200.00

Date: 06/25/01

Schedule: A

Project No.: NPS-DRTO 1(1)

Project Name: DRY TORTUGAS NATIONAL PARK -- SCHEDULE A

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
57003	LNFT	STRUCTURAL PILE F	ENCAPSULATION WIT	H CATHODIC PROTI	ECTION
	Marine Co DBA Harriso	on Dock Builder	33	650.00	21,450.00
	Robbie's Safe Harbor M	Robbie's Safe Harbor Marine			16,335.00
	Inland Equipment Servi	ces		942.15	31,090.95
	Sieg and Ambachtsheer,	Inc		1,200.00	39,600.00
	Coastal Marine Constru	ction, Inc.		2,500.00	82,500.00
	R&G Construction Com	pany		2,475.61	81,695.13
	ENGINEER'S ESTIMA	TE		400.00	13,200.00
63644	LPSM	RELOCATION AND A	ADJUSTMENT OF UTII	LITIES	
	Marine Co DBA Harriso	on Dock Builder	ALL	4,000.00	4,000.00
	Robbie's Safe Harbor M	arine		18,750.00	18,750.00
	Inland Equipment Servi	ces		6,042.12	6,042.12
	Sieg and Ambachtsheer,	Inc		15,000.00	15,000.00
	Coastal Marine Constru	ction, Inc.		6,000.00	6,000.00
	R&G Construction Com	pany		19,170.00	19,170.00
	ENGINEER'S ESTIMA	TE		14,000.00	14,000.00
63701	EACH	FIELD OFFICE (OFFI	CE EQUIPMENT)		
	Marine Co DBA Harriso	on Dock Builder	1	0.00	0.00
	Robbie's Safe Harbor M	arine		0.00	0.00
	Inland Equipment Servi	ces		35,895.85	35,895.85
	Sieg and Ambachtsheer,	Inc		10,000.00	10,000.00
	Coastal Marine Constru	ction, Inc.		9,000.00	9,000.00
	R&G Construction Com			2,130.00	2,130.00
	ENGINEER'S ESTIMA	• •		1,000.00	1,000.00

Date: 06/25/01

Schedule: B

Project No.: NPS-DRTO 1(1)

Project Name: DRY TORTUGAS NATIONAL PARK -- SCHEDULE B

BID ITEM CHECK PASS

Bidder	Item No.	Bidder's Extension	Computed Extension
R&G Construction Company	15729	14,373.00	14,372.00
R&G Construction Company	55101B	217,918.80	217,917.00
R&G Construction Company	55201A	85,660.87	85,660.85
R&G Construction Company	55401	24,168.65	24,167.00
R&G Construction Company	55702	382,891.27	382.62
R&G Construction Company	55707	26,597.97	26.59
R&G Construction Company	57002	243,501.29	243,500.32
R&G Construction Company	57003	81,695.41	81,695.13
Robbie's Safe Harbor Marine	55101B	57,477.00	57,487.50
Robbie's Safe Harbor Marine	55401	9,300.00	9,300.50

Date: 06/25/01

Schedule: B

Project No.: NPS-DRTO 1(1)

Project Name: DRY TORTUGAS NATIONAL PARK -- SCHEDULE B

BID TOTAL CHECK PASS

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
Marine Co DBA Harrison Dock Builder	304,884.50	304,884.50	
Robbie's Safe Harbor Marine	486,668.00	486,679.18	***
Inland Equipment Services	486,718.06	486,718.06	
Sieg and Ambachtsheer, Inc	720,700.00	720,700.00	
Coastal Marine Construction, Inc.	843,775.00	843,775.00	
R&G Construction Company	1,502,058.17	1,092,972.55	***

The apparent low bidder is 41 % below the engineer's estimate.

Schedule: B

Project No.: NPS-DRTO 1(1)

Project Name: DRY TORTUGAS NATIONAL PARK -- SCHEDULE B

State:FLOpened at:Sterling, VACounty:MONROEBy:J.WilsonDRY TORTUGAS NATIONAL PARKDate:06/21/01

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.					
Date:					
Date:					

Contractor	Bid Amount	Responsive
Marine Co DBA Harrison Dock Builder	304,884.50	
P.O. Box 8		
Harrison, ID 83833-0008		
Robbie's Safe Harbor Marine	486,679.18	
End of Shrimp Road		
Stock Island		
Key West, FL 33040		
Inland Equipment Services	486,718.06	
1656 E. 5th Street		
Panama City, FL 32401		
Sieg and Ambachtsheer, Inc	720,700.00	
P.O. Box 740609		
Orange City, FL 32774		
Coastal Marine Construction, Inc.	843,775.00	
625 N. Tamiami Trail		
Venice, FL 34292		
R&G Construction Company	1,092,972.55	
1700 N. Graham Street		
Charlotte, NC 28206		
Engineer's Estimate	517,350.00	

Date: 06/25/01

Schedule: B

Project No.: NPS-DRTO 1(1)

Project Name: DRY TORTUGAS NATIONAL PARK -- SCHEDULE B

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101	LPSM	MOBILIZATION			
	Marine Co DBA Harrison I	Oock Builder	ALL	44,000.00	44,000.00
	Robbie's Safe Harbor Marir			145,500.00	145,500.00
	Inland Equipment Services			50,000.00	50,000.00
	Sieg and Ambachtsheer, Inc			160,000.00	160,000.00
	Coastal Marine Constructio			160,000.00	160,000.00
	R&G Construction Compan	ıy		139,572.11	139,572.11
	ENGINEER'S ESTIMATE			88,750.00	88,750.00
15729	LNFT	TURBIDITY BARRIER	S		
	Marine Co DBA Harrison I	Oock Builder	200	17.50	3,500.00
	Robbie's Safe Harbor Marin	ne		35.59	7,118.00
	Inland Equipment Services			19.54	3,908.00
	Sieg and Ambachtsheer, Inc	2		30.00	6,000.00
	Coastal Marine Construction, Inc.			30.00	6,000.00
	R&G Construction Compan	ıy		71.86	14,372.00
	ENGINEER'S ESTIMATE	-		46.00	9,200.00
20304A	LL LPSM	REMOVAL OF MISCE	LLANEOUS ITEMS (I	DESIGNATED MATER	RIAL)
	Marine Co DBA Harrison I	Oock Builder	ALL	16,000.00	16,000.00
	Robbie's Safe Harbor Marir	ne		115,600.00	115,600.00
	Inland Equipment Services			83,189.96	83,189.96
	Sieg and Ambachtsheer, Inc	2		71,200.00	71,200.00
	Coastal Marine Constructio	n, Inc.		60,000.00	60,000.00
	R&G Construction Compan	ıy		264,378.93	264,378.93
	ENGINEER'S ESTIMATE			68,000.00	68,000.00
55101B	LNFT	TREATED TIMBER PI	LES, IN PLACE		
	Marine Co DBA Harrison I	Oock Builder	1,575	23.50	37,012.50
	Robbie's Safe Harbor Marin	ne		36.50	57,487.50
	Inland Equipment Services			28.00	44,100.00
	Sieg and Ambachtsheer, Inc			70.00	110,250.00
	Coastal Marine Constructio	n, Inc.		25.00	39,375.00
	R&G Construction Compan	ny		138.36	217,917.00
	ENGINEER'S ESTIMATE			30.00	47,250.00
55201A	CUYD	STRUCTURAL CONCE	RETE, CLASS A (AE)		
	Marine Co DBA Harrison I	Oock Builder	5	3,000.00	15,000.00
	Robbie's Safe Harbor Marir			400.00	2,000.00
	Inland Equipment Services			5,509.36	27,546.80
	Sieg and Ambachtsheer, Inc	2		3,000.00	15,000.00
	Coastal Marine Constructio			2,500.00	12,500.00

Date: 06/25/01

Schedule: B

Project No.: NPS-DRTO 1(1)

Project Name: DRY TORTUGAS NATIONAL PARK -- SCHEDULE B

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
	R&G Construction Company			17,132.17	85,660.85
	ENGINEER'S ESTIMATE			3,500.00	17,500.00
55401	LB F	REINFORCING STEEI			
	Marine Co DBA Harrison Doo	ck Builder	550	29.00	15,950.00
	Robbie's Safe Harbor Marine			16.91	9,300.50
	Inland Equipment Services			14.25	7,837.50
	Sieg and Ambachtsheer, Inc			3.00	1,650.00
	Coastal Marine Construction,	Inc.		4.00	2,200.00
	R&G Construction Company			43.94	24,167.00
	ENGINEER'S ESTIMATE			5.00	2,750.00
55702	MFBM 7	REATED STRUCTUI	RAL TIMBER AND LU	JMBER	
	Marine Co DBA Harrison Doo	ck Builder	42	2,250.00	94,500.00
	Robbie's Safe Harbor Marine			989.29	41,550.18
	Inland Equipment Services			2,518.10	105,760.20
	Sieg and Ambachtsheer, Inc			4,000.00	168,000.00
	Coastal Marine Construction,	Inc.		7,000.00	294,000.00
	R&G Construction Company			9.11	382.62
	ENGINEER'S ESTIMATE			5,000.00	210,000.00
55707	MFBM V	VOOD POLYMER CC	MPOSITE TIMBER		
	Marine Co DBA Harrison Doo	ck Builder	0.6	4,000.00	2,400.00
	Robbie's Safe Harbor Marine			37,730.00	22,638.00
	Inland Equipment Services			6,062.07	3,637.24
	Sieg and Ambachtsheer, Inc			20,000.00	12,000.00
	Coastal Marine Construction,	Inc.		7,000.00	4,200.00
	R&G Construction Company			44.32	26.59
	ENGINEER'S ESTIMATE			7,500.00	4,500.00
57002	LNFT F	PILE ENCAPSULATIO	ON WITH CATHODIC	PROTECTION	
	Marine Co DBA Harrison Doo	ck Builder	112	456.00	51,072.00
	Robbie's Safe Harbor Marine			450.00	50,400.00
	Inland Equipment Services			783.12	87,709.44
	Sieg and Ambachtsheer, Inc			1,000.00	112,000.00
	Coastal Marine Construction,	Inc.		1,500.00	168,000.00
	R&G Construction Company			2,174.11	243,500.32
	ENGINEER'S ESTIMATE			350.00	39,200.00

Date: 06/25/01

Schedule: B

Project No.: NPS-DRTO 1(1)

Project Name: DRY TORTUGAS NATIONAL PARK -- SCHEDULE B

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount	
57003	LNFT	STRUCTURAL PILE I	ENCAPSULATION WIT	H CATHODIC PROTE	ECTION	
	Marine Co DBA Harriso	n Dock Builder	33	650.00	21,450.00	
	Robbie's Safe Harbor Ma	nrine		495.00	16,335.00	
	Inland Equipment Servic	es		942.15	31,090.95	
	Sieg and Ambachtsheer,	Inc		1,200.00	39,600.00	
	Coastal Marine Construc	tion, Inc.		2,500.00	82,500.00	
	R&G Construction Comp	pany		2,475.61	81,695.13	
	ENGINEER'S ESTIMA	400.00	13,200.00			
63644	LPSM RELOCATION AND ADJUSTMENT OF UTILITIES					
	Marine Co DBA Harriso	n Dock Builder	ALL	4,000.00	4,000.00	
	Robbie's Safe Harbor Marine			18,750.00	18,750.00	
	Inland Equipment Services			6,042.12	6,042.12	
	Sieg and Ambachtsheer, Inc			15,000.00	15,000.00	
	Coastal Marine Construction, Inc.			6,000.00	6,000.00	
	R&G Construction Company			19,170.00	19,170.00	
	ENGINEER'S ESTIMA	ГЕ		16,000.00	16,000.00	
63701	EACH FIELD OFFICE (OFFICE EQUIPMENT)					
	Marine Co DBA Harriso	· ·	1	0.00	0.00	
	Robbie's Safe Harbor Ma	arine		0.00	0.00	
	Inland Equipment Services			35,895.85	35,895.85	
	Sieg and Ambachtsheer, Inc			10,000.00	10,000.00	
	Coastal Marine Construction, Inc.			9,000.00	9,000.00	
	R&G Construction Company			2,130.00	2,130.00	
	ENGINEER'S ESTIMATE			1,000.00	1,000.00	

Date: 06/25/01

Schedule: C

Project No.: NPS-DRTO 1(1)

Project Name: DRY TORTUGAS NATIONAL PARK -- SCHEDULE C

BID ITEM CHECK PASS

Bidder	Item No.	Bidder's Extension	Computed Extension
R&G Construction Company	55101B	217,918.80	217,917.00
R&G Construction Company	55201A	85,660.87	85,660.85
R&G Construction Company	55401	24,168.65	24,167.00
R&G Construction Company	55702	400,264.61	399.84
R&G Construction Company	55707	26,597.97	26.59
R&G Construction Company	57002	243,501.29	243,500.32
R&G Construction Company	57003	81,695.41	81,695.13
Robbie's Safe Harbor Marine	55101B	65,477.00	65,488.50
Robbie's Safe Harbor Marine	55401	9,300.00	8,915.50
Robbie's Safe Harbor Marine	55702	51,490.00	51,490.18

Date: 06/25/01

Schedule: C

Project No.: NPS-DRTO 1(1)

Project Name: DRY TORTUGAS NATIONAL PARK -- SCHEDULE C

BID TOTAL CHECK PASS

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
Marine Co DBA Harrison Dock Builder	322,499.50	322,499.50	
Inland Equipment Services	504,344.76	504,344.76	
Robbie's Safe Harbor Marine	534,608.00	534,235.18	***
Sieg and Ambachtsheer, Inc	753,700.00	753,700.00	
Coastal Marine Construction, Inc.	892,775.00	892,775.00	
R&G Construction Company	1,519,431.47	1,092,989.77	***

The apparent low bidder is 44 % below the engineer's estimate.

Schedule: C

Project No.: NPS-DRTO 1(1)

Project Name: DRY TORTUGAS NATIONAL PARK -- SCHEDULE C

State:FLOpened at:Sterling, VACounty:MONROEBy:J.WilsonDRY TORTUGAS NATIONAL PARKDate:06/21/01

I certify that this Bid Tabulation a	ccurately reflects the bids received and publicly opened for this solicitation.
Signed: _	
Title: _	Date:
Contract Awarded to: _	Date:

Contractor	Bid Amount	Responsive
Marine Co DBA Harrison Dock Builder	322,499.50	
P.O. Box 8		
Harrison, ID 83833-0008		
Inland Equipment Services	504,344.76	
1656 E. 5th Street		
Panama City, FL 32401		
Robbie's Safe Harbor Marine	534,235.18	
End of Shrimp Road		
Stock Island		
Key West, FL 33040		
Sieg and Ambachtsheer, Inc	753,700.00	
P.O. Box 740609		
Orange City, FL 32774		
Coastal Marine Construction, Inc.	892,775.00	
625 N. Tamiami Trail		
Venice, FL 34292		
R&G Construction Company	1,092,989.77	
1700 N. Graham Street		
Charlotte, NC 28206		
Engineer's Estimate	578,600.00	

Date: 06/25/01

Schedule: C

Project No.: NPS-DRTO 1(1)

Project Name: DRY TORTUGAS NATIONAL PARK -- SCHEDULE C

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101	LPSM	MOBILIZATION			
	Marine Co DBA Harrison Dock Builder		ALL	45,000.00	45,000.00
	Inland Equipment Services			50,000.00	50,000.00
	Robbie's Safe Harbor Ma			145,500.00	145,500.00
	Sieg and Ambachtsheer,	Inc		160,000.00	160,000.00
	Coastal Marine Construc			160,000.00	160,000.00
	R&G Construction Com	pany		139,572.11	139,572.11
	ENGINEER'S ESTIMA	TE		99,000.00	99,000.00
15729	LNFT	TURBIDITY BARRIER	S		
	Marine Co DBA Harriso	on Dock Builder	200	17.50	3,500.00
	Inland Equipment Service	ces		19.54	3,908.00
	Robbie's Safe Harbor Ma			35.59	7,118.00
	Sieg and Ambachtsheer,	Inc		30.00	6,000.00
	Coastal Marine Construc	ction, Inc.		30.00	6,000.00
	R&G Construction Com	pany		71.86	14,372.00
	ENGINEER'S ESTIMA	TE		46.00	9,200.00
20304A	L LPSM	REMOVAL OF MISCE	LLANEOUS ITEMS (I	DESIGNATED MATER	RIAL)
	Marine Co DBA Harriso	on Dock Builder	ALL	20,295.00	20,295.00
	Inland Equipment Service	ces		83,189.96	83,189.96
	Robbie's Safe Harbor Marine			145,600.00	145,600.00
	Sieg and Ambachtsheer,	Inc		76,200.00	76,200.00
	Coastal Marine Construc	ction, Inc.		60,000.00	60,000.00
	R&G Construction Com	pany		264,378.93	264,378.93
	ENGINEER'S ESTIMA	TE		80,000.00	80,000.00
55101B	LNFT	TREATED TIMBER PI	LES, IN PLACE		
	Marine Co DBA Harriso	on Dock Builder	1,575	23.50	37,012.50
	Inland Equipment Service	ces		28.00	44,100.00
	Robbie's Safe Harbor Marine			41.58	65,488.50
	Sieg and Ambachtsheer,	Inc		70.00	110,250.00
	Coastal Marine Construction, Inc.			25.00	39,375.00
	R&G Construction Company			138.36	217,917.00
	ENGINEER'S ESTIMATE			30.00	47,250.00
55201A	CUYD	STRUCTURAL CONCE	RETE, CLASS A (AE)		
	Marine Co DBA Harriso		5	3,000.00	15,000.00
	Inland Equipment Service			5,509.36	27,546.80
	Robbie's Safe Harbor Ma			400.00	2,000.00
	Sieg and Ambachtsheer,			3,000.00	15,000.00
	Coastal Marine Construc			2,500.00	12,500.00

Date: 06/25/01

Schedule: C

Project No.: NPS-DRTO 1(1)

Project Name: DRY TORTUGAS NATIONAL PARK -- SCHEDULE C

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount		
	R&G Construction Company			17,132.17	85,660.85		
	ENGINEER'S ESTIMATE			3,500.00	17,500.00		
55401	LB	REINFORCING STEE					
	Marine Co DBA Harrison Do	ck Builder	550	29.00	15,950.00		
	Inland Equipment Services			14.25	7,837.50		
	Robbie's Safe Harbor Marine			16.21	8,915.50		
	Sieg and Ambachtsheer, Inc			3.00	1,650.00		
	Coastal Marine Construction,	Inc.		4.00	2,200.00		
	R&G Construction Company			43.94	24,167.00		
	ENGINEER'S ESTIMATE			5.00	2,750.00		
55702	MFBM	ΓREATED STRUCTUI	RAL TIMBER AND LU	JMBER			
	Marine Co DBA Harrison Do	ck Builder	49	2,180.00	106,820.00		
	Inland Equipment Services			2,518.10	123,386.90		
	Robbie's Safe Harbor Marine			1,050.82	51,490.18		
	Sieg and Ambachtsheer, Inc			4,000.00	196,000.00		
	Coastal Marine Construction,	Inc.		7,000.00	343,000.00		
	R&G Construction Company			8.16	399.84		
	ENGINEER'S ESTIMATE			5,000.00	245,000.00		
55707	MFBM WOOD POLYMER COMPOSITE TIMBER						
	Marine Co DBA Harrison Do	ck Builder	0.6	4,000.00	2,400.00		
	Inland Equipment Services			6,062.07	3,637.24		
	Robbie's Safe Harbor Marine			37,730.00	22,638.00		
	Sieg and Ambachtsheer, Inc			20,000.00	12,000.00		
	Coastal Marine Construction,	Inc.		7,000.00	4,200.00		
	R&G Construction Company			44.32	26.59		
	ENGINEER'S ESTIMATE			7,500.00	4,500.00		
57002	LNFT PILE ENCAPSULATION WITH CATHODIC PROTECTION						
	Marine Co DBA Harrison Do	ck Builder	112	456.00	51,072.00		
	Inland Equipment Services			783.12	87,709.44		
	Robbie's Safe Harbor Marine			450.00	50,400.00		
	Sieg and Ambachtsheer, Inc			1,000.00	112,000.00		
	Coastal Marine Construction,	Inc.		1,500.00	168,000.00		
	R&G Construction Company			2,174.11	243,500.32		
				,	, · -		

Date: 06/25/01

Schedule: C

Project No.: NPS-DRTO 1(1)

Project Name: DRY TORTUGAS NATIONAL PARK -- SCHEDULE C

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount		
57003	LNFT	STRUCTURAL PILE	ENCAPSULATION WIT	H CATHODIC PROTE	ECTION		
	Marine Co DBA Harrison l	Dock Builder	33	650.00	21,450.00		
	Inland Equipment Services			942.15	31,090.95		
	Robbie's Safe Harbor Marine			495.00	16,335.00		
	Sieg and Ambachtsheer, In-	c		1,200.00	39,600.00		
	Coastal Marine Construction	on, Inc.		2,500.00	82,500.00		
	R&G Construction Compar	ny		2,475.61	81,695.13		
	ENGINEER'S ESTIMATE			400.00	13,200.00		
63644	LPSM RELOCATION AND ADJUSTMENT OF UTILITIES						
	Marine Co DBA Harrison l	Dock Builder	ALL	4,000.00	4,000.00		
	Inland Equipment Services			6,042.12	6,042.12		
	Robbie's Safe Harbor Marine			18,750.00	18,750.00		
	Sieg and Ambachtsheer, Inc			15,000.00	15,000.00		
	Coastal Marine Construction, Inc.			6,000.00	6,000.00		
	R&G Construction Compar	ny		19,170.00	19,170.00		
	ENGINEER'S ESTIMATE			20,000.00	20,000.00		
63701	EACH FIELD OFFICE (OFFICE EQUIPMENT)						
	Marine Co DBA Harrison l	,	1	0.00	0.00		
	Inland Equipment Services			35,895.85	35,895.85		
	Robbie's Safe Harbor Marine			0.00	0.00		
	Sieg and Ambachtsheer, Inc			10,000.00	10,000.00		
	Coastal Marine Construction, Inc.			9,000.00	9,000.00		
	R&G Construction Company			2,130.00	2,130.00		
	ENGINEER'S ESTIMATE	•		1,000.00	1,000.00		